4th Grade Test Prep

Max thinks of a number
between 1 and 20 that has
exactly 5 factors. What
number is he thinking of?

OA

a) 8
by 9
c 12
d 16
e) 18

Which TWO of the following
statements are true?

0.09 > 0.1
0.24 =0.42
0.17 <0.32
0.2 < 0.099
0.9 > 1.01
0.85>0.82

>0 00T

NF

Max's bedroom floor isin the ND
shape of a rectangle as

shown. The length of his

bedroom is 10 ft. What is the
width?

a) 5ft
b) 6ft 60ft?
c 7ft
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How many lines of symmetry
does this figure have?

a) O
b) 2
c) 3
d 4
e) 5
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Enter your answers in the NBT
boxes.

5400 + 9 =

300 + 5 =

420 + 7 =

2,800 + 4 =

1,800 + 3 =




